
Multiplikation	und	Division	

Baum	 Socken

Vögel	 Äpfel
gehören
zusammen

Eier Tüte bekommen

passen

Kinder

sitzen

Es	sind	10	Vögel
und	5	Bäume.	Wie
viele	Vögel	sitzen
auf	einem	Baum?	
	

Wörter:	Vögel,	Baum,	sitzen

einschenken

...

Es	sind	5	Bäume
und	auf	jedem	Baum
sitzen	2	Vögel.	Wie
viele	Vögel	sind	es?

Bild

Es	sind	insgesamt	10
Vögel.	

Bonbons

Karten

Mäuse

Höhle

Karton

10	:	5=	

6	:2	=

4	•	2	=
21	:	3=	

Je	2	Vögel	sitzen
auf	einem	Baum.	

	10	:	5
	2	•	5	=	10				5	•	2	=
10
																		

Die	Grundschulmaus



Es	sind	10	Vögel
und	5	Vögel	sitzen
immer	auf	einem
Baum.	Wie	viele
Bäume	brauchen
sie?	
	

Wörter:	Vögel,	Baum,	sitzen

Es	sind	2	Bäume
und	auf	jedem	Baum
sitzen	5	Vögel.	Wie
viele	Vögel	sind	es?	

Bild

Es	sind	insgesamt	10
Vögel.	

Die	Vögel	brauchen
5	Bäume.	

	10	:	5 	2	•	5	=	10				5	•	2	=	10

?

Die	Grundschulmaus
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